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The FINANCE menu
Bond Yield

Practice solving for the yield of a bond
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The FINANCE menu

The Finance solver is accessed from the WHITE shifted function of the (9 ) key by pressing (&5 ) ivance . When pressed, a data
entry form is displayed that is used to solve a number of financial math problems.

3 TINE VALUE OF MOREY
n: Izvk: @

FY: 3,80
PAT: B, 808 PYE: 12
FY: @.80 End

Enter no. of payHents or SOLVE
EDIT] | | [ANOR [SoLvEREENSRR

To solve problems using this display, move the cursor using the (O <3 ¢ay ( keys to each field and input its value, if known.
To solve fo unknown value, move the cursor to the field for which you wish to solve, and press the key to register the
choice of EEFEIE, which is displayed above it. The value of the unknown will be calculated and displayed in the field. The solved
value of the variable will be copied to the first level of the command stack in case further calculations with it are desired.

Variables will also be created whenever a value is stored in one of the financial fields or when it has been solved. These variables (N
for example holds the value for n) can be seen in the menu and can be deleted just like any other user-created variables when
they are no longer needed. Values from a previous use of the financial solver will remain until the variables holding them are deleted.

Several values are already present on this screen. The number of payments per year is set to 12 for monthly compounding, as
shown to the right of the P/YR: in the screen above. If annual compounding is desired, this value should be changed to 1. If quarterly
compounding is desired, this value should be changed to 4. Just below the P/YR: field, the calculator displays the word END,
signifying that payments are assumed to occur at the end of each period, which would be the case for ordinary annuities. If payments
are desired at the beginning of the period, a be the case in an annuity due, this value can be changed by moving the cursor
to this field. When the cursor is on this field, is displayed above the key, indicating the calculator will supply a list of
choices (Begin or End) in a small CHOOSE box if this key is pressed. Note that Begin will be displayed as Beg if chosen. To exit
from this data entry screen, press the key.

TINE VALUE OF MOREY

a I2VR: B
: @8.688
1 @.008 PovR: 12
Fv: 8,00 End

Choose When payHents are Hade

I (T O N YT Figure 2
The HP 509 Financial solver follows the standard convention that money in is considered positive and money out is negative.
Bond Yields

Abond is a financial instrument where a company, government entity, or individual borrow money with the promise to pay interest
periodically and to repay the initial amount borrowed at a specified future date. Bonds will usually have a specified interest rate
(called the coupon rate) and are most often in denominations of $1,000. Bonds also usually pay interest every six months. The
interest rate the bond pays is fixed when the bond is first sold or issued, but changes in the market interest rate will change the price
of the bond over its life. If a bond is purchased for exactly $1,000, the bond’s yield (total return to the purchaser) will be equal to the
bond'’s coupon rate. If, however, a bond is purchased for more or less than the original $1,000 amount, the total return or yield will be
different from the coupon rate. The HP 50g can directly solve for bond prices using the FINANCE data entry form in simple situations
where a bond interest payment is exactly one period away. For other situations, the answers will be approximations. To solve these
other bond price problems, the built-in solver of the HP 50g can be used to enter the bond price formulas.

Practice solving for the yield on a bond
Example 1: A bond with 20 years left until it matures is selling for $900. It has a 5% coupon rate and pays interest

semiannually. What is the yield if this bond is purchased?

hp calculators -2- HP 50g Bond Yield



hp calculators

HP 50g Bond Yield

Answer:

Example 2:

Answer:

Example 3:

Answer:
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Since the bond is paying interest semiannually, the 5% interest paid of $50 will be paid as $25 every six months.
If the bond has 20 years left, the value for N will be 40 periods.

(D e (30 (0D @m) (3 (30000 (00 @) (2D (30 () @) (2D @m (1) (00 (00 (00 )
GBS

TIMNE VALUE OF MOREY

i a 12 B
PY: 9B8, 80

FHT: =25, 68 PoYR: 2
Fv: —1806,08 End

Enter Yearly int rate or SOLVE
EDIT] | | [ANOR [SoLvEREEESRIR
5.855%

A bond with 10 years left until it matures is selling for $1,145. It has a 6% coupon rate and pays interest
semiannually. What is the yield if this bond is purchased?

Since the bond is paying interest semiannually, the 6% interest paid of $60 will be paid as $30 every six months.
If the bond has 10 years left, the value for N will be 20 periods.

() wner (20 (0D @m) (3 (D0 (30 (3D @) (30 (00 0 7 (20 @) (1) (00 (00 (00 )
GBS

TIMNE VALUE OF MOREY

n: 28 I2VR:
rY: 1145.088

FHT: =33, 68 PoYR: 2

FY: —1806, 88 End

Enter Yearly int rate or SOLVE
EDIT] | | [ANOR [SoLvEREEESRW
4.208%

A bond with 13 years left until it matures is selling for $1,030. It has a 5.5% coupon rate and pays interest
semiannually. What is the yield if this bond is purchased?

Since the bond is paying interest semiannually, the 5.5% interest paid of $55 will be paid as $27.50 every six
months. If the bond has 13 years left, the value for N will be 26 periods.
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TIMNE VALUE OF MOREY

h: 26 I2VR:
PY: 1838, 006

PAT: —27.58 PoVR: 2

FY: —1088.08 End

Enter Yearly int rate or SOLVE
54 I I N IR Figure 5
5.18%
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